2021/1/588€

2020 HMBIMXTC U11 A (58F4%) X ML EORRAS

No |&&s PEDED I = &8 |BFIJVUHF|2aoVUEF FRiEF—LA

1 1 GK | B2 K| K PAVE S 2354 {ZHHAELY RXSH—-X

2 |2 MF | 2K b= oOo+ L> ZHEL Y RXH—-X
313 MF | 7 BX A L <Yk~ {ZHHAELY RXSF—-X

4 |4 MF | =15 BEX SIS | UaDoFA ZHHEL Y RXH—-X

5 |5 MF | /K RX AN a5 JU—-> RS ARNFBESSS
6 | 6 DF | #8lU B4 =TV LA Y w H—OR— YA
7 |7 FW | &4 /N FTHhALS EObk S w H—R— YA
8 | 8 MF | #EH AX— oI5 HAF AFC1—=7>]r.

9 |9 MF | K& 4t AASTH A0 |EYNED Y H—OR— YA EH]
10 |10 MF | h0EE = sl a9k MY NEH Y H—ZR—WAMEH]
11 |11 DF | EfZ zE FAH5 VS MWINES H— ZR— /D 4EH]
12 |12 GK | #z&K Az XFE S VS MMW/NEH Y 73— ZR— WD EEH]
13 |13 DF | B8 N BHI\S s ZILT 1 TIH

14 | 14 MF | & e JSHA8 JUL ZRIL7+ TFHE

15 | 15 FW | 2L XE | /\GrvY | 2avsAa ZRIL7+ TFHE

16 | 16 MF | B8 | 2N | FH/\S | NI RS | AMEIID Y H—RR—WDEH]
17 |17 MF | {%8& =) H D I\ | MBS Y B —RR— YD E]
18 |18 MF | Ef Hi AH5 JaD Bty H—ZR— WA EHE
19 |19 FW | Zgith B FOF s Bty H—ZR— WA EH
20 |20 FW | #21L = AFVY HhF> KD W H—ZR— YD EH
21 |21 FW| BE BEK AHIS (w20 MBAEH Y H—ZR— WD
22 |22 DF| /NAH 5 J+4 Atz MBAEH Y H—ZR— WD
2020 HTBHIXTC U11B (54%) X ML EDZRAR

No |s&s xosay| HEP % |\EFIJVEF|&sIVET PAEF—LA

1|1 GK | EH 1M +H5 EhF | TS Y H—ZR—YIEH
2 |2 FP | X% E 7Y L> TE D Y H—OR— WA E
3 (3 FP | B2 fifiteE L AN 9% | FHED Y H—R—VYADEH
4 |4 FP | AR FAEY H D LWk TE D Y H—ZOR— WA E
515 DF | & X— A>hHH SAF JWBFCRR— W&

6 | 6 MF | #aft BHE | hSOLS | JULF J\IBFCAR— WA EH]
7|7 DF | &% YD 7T Ak J\WBFCR— W/ EEH]

8 | 8 MF | &M =3 IS5 Za>RA J\IBFCAR— WA EH]

9 19 MF | EEB Yo L AN 7F b J\IBFCAR— WA EH]

10 |10 FW | &fE X4 DAX= H> MERY W H—ZR—YIEH
11 |11 MF | AR =] H D >3ov 7597w WikHE

12 |12 FW | BaIEB =% 77N nF5 597U wWIH

13 |13 MF | RH HEIX AX=H5 | UaotA 597U wWIH

14 | 14 MF | /]MEF 2 FJ 2ae 597U wWIKH

15 | 15 GK | /v B )W | dotA 7597w WikHE

16 | 16 MF | Zgith | E=EB FoOF |H>EPTOD 7597w YIH

17 |17 FW | 8K rn AXF U3 oA 507U wWIKH

18 |18 MF | EEB ZERE | AN 2017 7597w WikHE

19 |19 MF [ 8K & AXF 21>  |fREmFCHwY h—ZR—WAEH
20 |20 MF | B8 =i J02% | JuLat [REEFCHY h—RR—YAEH
21 |21 FW | ks B+ H D 741~ TBIHw 5 —ZR— Y]
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